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b(x,n,p) = Cip*q" ™™

HepbZRR "I mAIHSER | nZRaaiiRE] , SRRHIRENERATREL,

ErRBEEARSRTHENEOERE SRR | ATEIHERHTHE, REENSREENIT , 2
SREHRET L0 |, BRAME HAETSES , BIRFHIIGREREALR J$7T' Z97% ?

b(9,10,0.97)=Cj, X 0.97° X 0.03'=0.228 — A&

b(2,10,0.03)=C;, X 0.03* X 0.97%=0.032. AT A
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Poisson distribution , B¥AD
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German Tank problem
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minimum-variance mean-unbiased estimator

Month
June 1940
June 1941

August 1942
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e SPSS: Statistical Package for the Social Sciences

o SPSS T BYER44 R 8N S-Plus, R, SAS, B F LR 52
M o= {ErY.

o (B 2 RIFFth Bl LIGmAE







